— RN BEX 1

—RFIRETN BEX 2

&£ #A E K&
@D x+8=5 @ 2-x=10
r=5-8 —x=10-2
x=— -x=8
x=-8
@ 7x+5=33 @ 6x-7=17
7r=33-5 6x=17+7
7r=28 6x=24
x=4 x=4

® 5x+2=2x-10

® 8x—-8=3x+12

Sx—-2x=-10-2 8x—-3x=12+8
Sr=-12 5x=20
x=-4 x=4

@ 3x+2=7x+14 bx—4=x—14
Sx—-7x=14-2 bx—x=—-14+4
—dx=12 5x=-10
r=-3 x=-2

&£ 4 E K&Z
@D x-7=12 @ 3+x=11
x=12+7 x=11-3
x=19 x=8
Q@ 3x+4=16 @ 5x-6=9
3x=16—-4 5x=9+6
3r=12 S5r=15
x=4 x=3
® 5x—-7=x+13 ® 7x-5=4x-11
Sx—x=13+7 7x—4=-11+5
4x=20 3x=-6
xr=95 r=-2
@ 2x+13=5x+4 9x+4=2x—-10
2x-5x=4-13 9x—-2x=-10-4
-3x=-9 7x=-14
xr=3 r=-2
© 2x—-6=4x-10 7x+6=4x+15
2x—4x=-10+6 7x—4x=15-6
2x=—4 3x=9
x=2 r=3

© 4x-2=10x-20

4x—10x=-20+2
—6x=-18
=3

9x—-6=2x+15

9x—-2x=15+6
7x=21
=3
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—ROENN BX 3

—RJEN B

&£ 4 E K&Z

@D x-5=6 @ 8+x=12
r=6+5 x=12-8
x=11 x=4

® 3x+5=20 @ 4x-1=19
3x=20-5 4x=19+1
3xr=15 4x=20
=5 x=5

= £ E K&

@ x+8=14 @ 7+x=15
x=14-8 x=15-7
=6 r=8

@ 2x+18=10 @ 3x-5=13
2x=10-18 Sx=13+5
2x=-8 3r=18
x=—4 =6

® b5x—1=2x+11

® 8xr—-5=2x+19

® 7x+6=5x+14

® 7x-3=3x+13

Sx—2x=11+1 8x—2x=19+5
3r=12 6x=24
x=4 x=4

@D x+3=5x+31 7x—6=2x—-36
x—5x=31-3 7x—2x=-36+6
—4x=-28 5xr=-30
x=7 r=—-6

7x—bx=14-6 7x—3x=13+3
2x=8 4x=16
x=4 x=4

@ 2x+6=6x+18 bx+7=2x-8
2x—6x=18+6 bx-2x=-8-7
=12 3r=-15
x=-3 x=-5

© 5x-5=7x—19

S5x—7x=-19+5
2x=-14
x=7

1lx-5=3x+19

11x—3x=19+5
8x=24
r=3

Q 2x-3=6x-23

2x—6x=-23+3
—4x=-20
x=5

9x—-7=3x+17

9x—-3x=17+7
6x=24
x=4
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—ROEIN BX b

&£ 4 E K&Z
@ x+1=13 @ 7-x=5
x=13-1 -x=5-7
x=12 —x=-2
x=2
Q@ sx+2=32 @ 7x—-5=23
b5rx=32-2 7x=23+5
5x=30 7x=28
x=6 x=4
® b5x+21=x+9 ® 9x-5=3x+13
S5rx—x=9-21 9r—-3x=13+5
4x=-12 6x=18
x=-3 x=3

@ 4x+5=7x+17

4x—7x=17-5
-3x=12
x=—4

bx+1=2x—-15

6x—2x=-15-1
4x=-16
x=—4

—RFIRETN BEX 6

&£ #A E K&
@D x-3=4 @ 7+x=9
x=4+3 x=9-7
x=7 x=2
@ 3x+2=20 @ 5x-7=13
3x=20-2 5x=13+7
3r=18 5x=20
=6 x=4
® bx+2=2x+14 ® 8x—4=3x+16
bx—-2x=14-2 8x-3=16+4
3x=12 5x=20
x=4 x=4
@ 2x+7=56x+16 7x—4=2x—14
2x-5x=16-7 7x—2x=-14+4
-3x=9 b5r=-10
r=-3 r=-2

© 3x+5=10x-16

3x—10x=-16-5
—7x=-21
=3

7x—-7=2x+13

7x—2x=13+7
5x=20
x=4

© 4x-4=7x-19

4x—7x=-19+4
-3x=-15
x=5

9x+4=2x+18

9r—-2x=18-4
7x=14
x=2
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—R7IRETN BEX 8

= bas == K&

@ x+4=10 © 6+x=12
x=10-4 x=12-6
x=6 =6

Q® 2x+13=7 @ 3x-8=7
2x=7-13 3x=7+8
2r=—6 3r=15
x=-3 x=5

® 5x+7=3x+11

©® 8xr—-7=4x+13

&£ #A E K&
@ z-3=4 @ 10-x=4
x=4+3 —x=4-10
x=7 —x=—6
xr=6
@ 3x+2=20 @ 5x-7=13
3x=20-2 bx=20-2
3r=18 3r=18
=6 =6
® 9x+7=4x-8 ® 8x—4=5x+14
9x—4x=-8-7 8x—-b5x=14+4
S5xr=-15 3x=18
r=-3 =6

S5r—3x=11-7 8x—4x=13+7
2x=4 4x=20
x=2 x=5

@ 4x+3=6x+9 bx+7=2x-2
4x—6x=9-3 Sx-2x=-2-7
2x=6 3r=-9
r=-3 r=-3

@ 2x+5=56x+14

7x+8=2x+13

© 2x-2=7x-12

2x—-7x=-12+2
-5x=-10
x=2

156x—-11=13x-3

15x—13x=-3+11
2x=8
x=4

2x—-5x=14-5 7x—2x=13-8
—3x=9 S5x=5
r=-3 x=1
© 6x+11=13x-10 9x-8=6x-2
6x—13x=-10-11 9xr—-6x=-2+8
—7x=-21 3r=6
x=3 x=2
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— RN &X 10

&£ #A
D x-7=6 © 5+x=12
r=6+7 x=12-5
x=13 x=7
@ 4x+5=21 @ 7x-5=16
4x=21-5 7xr=16+5
4x=16 7x=21
x=4 x=3

&£ 4
@ z+9=12 @ 8+x=15
x=12-9 x=15-8
xr=3 x=7
@ 2x+9=17 @ 3x-2=7
2x=17-9 3x=7+2
2x=8 3x=9
x=4 =3
® 5x+4=3x+10 ® 7x—4=4x+8
S5x-3x=10-4 7Tx—4x=8+4
2x=6 3x=12
r=3 x=4

® 9x+5=56x+17

9x—-5x=17-5
4x=12
r=3

® 8x—4=5x+5

8x—-b5x=5+4
3x=9
r=3

@ 2x+3=6x+19

2x—-6x=19-3
—4x=16
x=—4

15x+9=7x-15

15x—-7x=-15-9
8x=-24
r=-3

@ 5x+9=7x+1

2x+11=7x-9

© 3x-2=9x-20

3x—-9x=-20+2
—6x=-18
xr=3

10x+3=7x+15

10x-7x=15-3
3x=12
x=4

S5x—7x=1-9 2x—7x=-9-11
2r=-8 5x=-20
x=4 r=—4

© x-2=2x-5 11x—-9=4x+19
x-2x=-5+2 1lx—4x=19+9
—x=-3 7x=28
r=3 x=4
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—RIIREIN B 12

&£ 4
® x+2=10 @ 9-x=12
x=10-2 —x=12-9
x=8 —x=3
r=-3
® 2x+3=11 @ 3x-5=10
2x=11-3 3r=10+5
2x=8 3x=15
x=4 x=5

® bx+7=2x-2

© 8x-7=4x+17

&£ #A E K&

@ x-7=11 @ 6+x=15
x=11+7 x=15-6
x=18 x=9

@ 2x+5=15 @ 3x-7=11
2x=15-5 Sr=11+7
2x=10 3x=18
x=5 x=6

Sx—-2x=-2-7 8x—4x=17+7
3x=-9 4x=24
x=-3 =6

@ 4x+5=6x+9 5x+4=2x-5
4x—6x=9-5 Sx—-2x=-7-5
2x=4 3x=-12
xr=-2 x=—4

® b5x+5=2x+17

Sx—-2x=17-5
3x=12
x=4

® 8x-7=3x+8

8x—-3x=8+7
S5r=15
r=3

© 2x-6=7x-16

2x—-7x=-16+6
-5x=-10
x=2

7x+7=x+25

Tx—x=25-7
6x=18
xr=3

@ 6x-13=10x+15

10x+7=4x-11

< g B B>

6x—10x=15+13 10x—4x=-11-7
—4x=28 6x=-18
x=-7 r=-3

© 8x-8=11x-20 6x+9=4x-3
8x—11x=-20+8 6x—4x=3-9
—Br=-12 2x=—6
x=4 r=-3
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— RN 2R 14

&£ 4
D x-5=9 © 8+x=15
r=9+5 x=15-8
x=14 x=7
@ 2x+7=21 @ 3x-5=10
2x=21-7 3x=10+5
2x=14 3x=15
x=7 x=5

&£ #A
® x+5=11 @ 14-x=9
x=11-5 —x=9-14
=6 —x=-5
xr=5
@ 4x+11=3 @ 3x-5=13
4x=3-11 3r=13+5
4r=-8 3r=18
r=-2 =6

® bx+7=3x+19

S5x—-3x=19-7
2x=12
r=6

© 9x+8=2x-20

9x—-2x=-20-8
7x=-28
x=—4

® 5x+5=7x+11

Sx—7x=11-5
2x=6
r=-3

® 9x+2=2x-19

9x—-2x=-19-2
—7x=-21
=3

@ 4x+7=6x+1

4x—6x=1-7
—2r=-8
x=4

Sx+8=2x-7

Sx—-2x=-7-8
3x=-15
xr=-5

@ 4x+3=6x+7

dx—-6x=7-3
—x=4
r=-2

5x+10=2x-8

bx—2x=-8-10
3r=-18
x=-6

© 2x-9=7x-24

6x—10x=15+13
—4x=28
x=-7

Sx-3=3x+17

8x—-3x=17+3
5r=20
x=4

© 2x-13=7x-7

2x—-5x=-7+13
-3x=6
x=-2

8x—4=3x+21

8x—-3x=21+4
5x=25
xr=95
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